All Ol & AF H Al
20099 &= =20l &t LBta] |
O 2 ==&t
MIZ2 ojExe @ Au0lz =4
SURE x4 2 ag (el o
S BB (EH) - NEAY - BAS e HInE
=4kt 6,575,575 14,200,653 AT,625,078
= 621,000
ay 720,000
| 90,000
= 112,000
& 1,680, 101
Al ,352,474
AJIEE2 HEZE 2 saog 54 ,507,575 14,138,053 AT,630,478
= 621,000
iy 720,000
| 90,000
= 112,000
= 1,680, 101
Al ,284,474
FADN e RSP = e 655,000 1,233,669 A578,669
= 30,000
= 282,000
= 112,000
& 26,700
Al 204,300
=MNBRLE=F 390,000 380,000 10,000
Ay 273,000
Al 117,000
206 XH=Hl 390,000 380,000 10,000
= 273,000
Al 117,000
01 M=l 390,000 380,000 10,000
Ox=&3E Y ¢= 390,000, 000& 390,000
= 273,000
Al 117,000
SItAel 2HALS 100,000 183, 169 A83,169
= 82,000
& 9,000
Al 9,000
307 220N 100,000 183, 169 A83,169
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HH: AJES OEXY L £408 T4
el SMRE FH L B (S92l
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 glggf; HRs2
307 glz2told = 82,000
& 9,000
Al 9,000
02 QItFAE X 100,000 183, 169 283,169
OZItAEl THIA 100, 000,0002 100,000
& 82,000
= 9,000
Al 9,000
N 18,000 18,000 0
2 9,000
= 2,700
Al 6,300
101 el H] 8,000 10,000 22,000
s 4,000
= 1,200
Al 2,800
10 JIZHNZ2Z2NSE s 8,000 10,000 22,000
OFEZYHMALS 8,000, 000& 8,000
4,000
= 1,200
Al 2,800
201 Lt 10,000 8,000 2,000
s 5,000
= 1,500
Al 3,500
01 ARl 10,000 8,000 2,000
O YN A 10,000,000& 10,000
5,000
= 1,500
Al 3,500
SATIRRE] BHER AL 60,000 0 60,000
= 30,000
& 15,000
Al 15,000
201 BH2EH] 60,000 0 60,000
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SM-EH . C(BH) - HRAY - B2 0f Ao glggf; HRs2
201 L3 = 30,000
& 15,000
Al 15,000
01 AtR2teltl 60,000 0 60,000
O*MTEBE ZHEX A  60,000,0002 60,000
= 30,000
= 15,000
Al 15,000
VEEEINEAESTEEED 7,000 0 7,000
308 AHXIHXMSOIH 7,000 0 7,000
05 XNXSHARES 7,000 0 7,000
OFZNHE JIE: HE 7,000,000& 7,000
OIS &N 30,000 62,500 232,500
2 30,000
402 QIEXE01 M 30,000 62,500 A 32,500
= 30,000
01 BI2ZEXI=282 =X 30,000 62,500 A 32,500
OUtXI& A ALY 30,000, 000& 30,000
&2 30,000
Heztel sX 2 =4 50,000 430,000 A380,000
401 AU S04 50,000 430,000 A380,000
01 Al&HI 50,000 426,580 A 376,580
onEgsiae & =M 50,000,000& 50,000
oS A D HRIASSH 2,267,675 4,287,984 22,020,309
= 500,000
s 163,000
& 532,951
Al 1,081,724
A2 R2UU=EE =4 1,000,000 1,000,000 0
= 500,000
= 250,000
Al 250,000
401 AEHIL20 1,000,000 1,000,000 0
= 500,000
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0 & 24
401 Al HIZ 20| S 250,000
Al 250,000
01 AlI&HI 993,700 993,700 0
Ox72 HIOHSESAIY (10H4)
993,700,000& 993,700
= 496,850
= 248,425
Al 248,425
03 Al&Z=01dl 6,300 6,300 0
OATRE HIHSESAIS (1HA)
1,000,000, 000& *0.63% 6,300
= 3,150
< 1,575
Al 1,575
S0 Z¥A galas A 400,000 400,000 0
& 200,000
Al 200,000
402 QI2EGE01M 400,000 400,000 0
e 200,000
Al 200,000
01 Q2tR=Ex 400,000 400,000 0
Os&d0 3dE gal=s N
400,000,000 400,000
= 200,000
Al 200,000
Heg A= FSEX B3 32,000 24,000 8,000
& 16,000
Al 16,000
402 QI2EE01M 32,000 24,000 8,000
= 16,000
Al 16,000
01 BIZEXI=22 =X 32,000 24,000 8,000
OHHE ARTSAX E=(40)
32,000,000& 32,000
= 16,000
Al 16,000
HaR T2z K& 53,902 53,902 0
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HEd Mol2EE K& T 26,951
Al 26,951
307 QIZtolA 53,902 53,902 0
== 26,951
Al 26,951
02 0I2tFAE X 53,902 53,902 0
OKM MMolEE2 K= (480%)
53,902,000& 53,902
o= 26,951
Al 26,951
UAHEHSAY 191,000 146,250 44,750
iy 153,000
= 11,000
Al 27,000
401 AIEZHIZLE204B] 191,000 146,250 44,750
g 153,000
= 11,000
Al 27,000
01 Al&H] 185,307 141,891 43,416
OLAHE HTIAIY 185,307,000& 185,307
iy 148,452
& 10,676
Al 26,179
02 Ze2lbl 4,317 3,306 1,011
OLAHE E3tAtH 191,000, 000& *2 . 26% 4,317
3,454
& 246
Al 617
03 A& 20ibI 1,376 1,053 323
OLAHE HTIAIY 191,000,000 *0.72% 1,376
Ray 1,094
& 78
Al 204
22Ut A3 =4 40,000 80,000 A 40,000
== 15,000
Al 25,000
|
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Al 25,000
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a2 +EEX 1,000,0002! 1,000
OCIOHHHIAIY HREZ 1,000,0002! 1,000
206 M=l 50,000 32,000 18,000
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S M ol &= Atk

o AJ|ES OEXY ¥ Aa0E S4
ol OQE A 2 (B9l ®2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
SOYNEH ZHalbl 14,000, 0002 14,000
CONEH TIla 2223
3,200,000 3,200
ClEL] 2,000,0002 2,000
OXHE Bt 60,000,0002 60,000
301 YptEAZ 5,000 8,000 3,000
10 BAFAHIZAZ 4,000 7,000 3,000
OO0l W FAX AHBA 4,000,008 4,000
12 JEtR A3 1,000 1,000 0
0442 MK DIEAl A1 B4
1,000,0002 1,000
303 ZAS 2,000 0 2,000
NEEEE 2,000 0 2,000
OxMBHHEYE D2 4 By
2,000,000% 2,000
401 A&HIZ =Y 35,000 30,000 5,000
01 Al&] 35,000 30,000 5,000
ONLXEH 22 35,000,0002 35,000
uHP olEey =4 229,000 148,500 80,500
= 1,000
p 90,000
= 55,500
Al 82,500
9t XIH Of & K 21 AbeS 2,000 2,000 0
=2 1,000
= 500
Al 500
201 YLere gl 2,000 2,000 0
=2 1,000
= 500
Al 500
01 At=R22[H] 2,000 2,000 0
OBHXIHI 01 1 7 2] (35) 2,000,000% 2,000
= 1,000
= 500
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SN HH G (EH) - MBAY - BYS Ak e 2

Al 500

HEHII=E MelAtd 50,000 30,000 20,000
& 25,000
Al 25,000

201 2BH2EH] 5,000 2,000 3,000
& 2,500
Al 2,500

01 AtR2teltl 5,000 2,000 3,000
ONYHII=S HelAtS 5,000, 000& 5,000
= 2,500
Al 2,500

401 Al&HIZ S0 45,000 28,000 17,000
L= 22,500
Al 22,500

01 Al&Hl 45,000 28,000 17,000
OUEHII= XNclAtE 45,000,000& 45,000
= 22,500
Al 22,500

HEHIIE HatAS 150,000 100,000 50,000
| 90,000
& 30,000
Al 30,000

307 QIZt0IA 150,000 100,000 50,000
| 90,000
& 30,000
Al 30,000

05 QIZtREZ 150,000 100,000 50,000
Qo XM Dl =0HAtS 150,000, 000& 150,000
| 90,000
= 30,000
Al 30,000

ot E M 27,000 16,500 10,500

201 Let3H| 20,000 10,000 10,000

01 At 2teld] 10,000 10,000 0
O gBt+=&2H| 10,000, 000& 10,000
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ol AE OfESA T4 CLE-E)
S HE - CRI(EH) - HRAY - B 01 &t o8 e HlRE2
0 & 24
02 22944 10,000 0 10,000
O332R=ZL A 10,000,000& 10,000
206 Tzl 4,000 3,000 1,000
01 XZHl 4,000 3,000 1,000
OR=M ZH&EH ¥ 257 4,000,000& 4,000
301 LetEd=z 3,000 3,500 A500
10 BAIAHIENS 3,000 3,500 A500
OHttel & At FAX AHIEY
2,000,000& 2,000
O=HMZEza2 & At X AHIE4
1,000,000& 1,000
OEMHY & FFD|8t =4 3,052,000 8,188,500 25,136,500
= 90,000
s 285,000
= 986,500
Al 1,690,500
=& ol2I|dxl K& 270,000 300,000 230,000
s 75,000
& 37,500
Al 157,500
402 QIEE01M 270,000 300,000 30,000
s 75,000
& 37,500
Al 157,500
01 QtR=Ex 270,000 300,000 30,000
OA8H QD] &X 270,000,000 270,000
s 75,000
< 37,500
Al 157,500
HEEFUHEANE &5 1,100,000 1,900,000 800,000
L= 550,000
Al 550,000
401 Al&HIZ =20 1,100,000 1,900,000 A800,000
& 550,000
Al 550,000
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HH: AJE2 OEXY L L4018 T4
SRl OfENY U FFIIEH EY (el &2)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
01 Al&H] 1,092,080 1,892,620 2800, 540
OHFE O TRNA 198,560,000 198,560
= 99,280
Al 99,280
OCHAE Ha% &3 397, 120,00024 397, 120
= 198,560
Al 198,560
ODIEE SIH HEBA 496,400, 0002 496,400
= 248,200
Al 248,200
03 A& 7,920 7,380 540
OHTE BO TR
200,000, 0002 0. 72% 1,440
= 720
Al 720
OCHAS MEZT X 400,000,000 %0.72% 2,880
= 1,440
Al 1,440
ODITS YTHH HFBA
500,000, 0002 *0.72% 3,600
= 1,800
Al 1,800
OEZE N AL 50,000 1,662,500 ~1,612,500
401 AlEHILL 0] 50,000 1,135,250 ~1,085,250
01 Al&H] 50,000 1,131,163 A1,081, 163
OHESBNLALE RX L 22l
50,000, 0002 50,000
o1 0F & HI AL & 420,000 382,000 38,000
2 210,000
= 63,000
Al 147,000
401 AlSHIL 20| 420,000 382,000 38,000
2 210,000
= 63,000
Al 147,000
01 Al 416,976 379,249 37,727
OFESE lorF| 416,976, 0002 416,976
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M-S (3) - HRAY - BES Aro e =2
s 208,488
= 62,546
Al 145,942
03 AIE=C0HHI 3,024 2,751 273
OF Sk AHotEH| 420,000,000& *0.72% 3,024
s 1,512
=S 454
Al 1,058
272 EF0E RAUE+ 600,000 0 600,000
L= 300,000
Al 300,000
401 Al HIZ 20| 600,000 0 600,000
& 300,000
Al 300,000
01 A&l 595,500 0 595,500
OZEs MEE ARTA 496,400,000 496,400
< 248,200
Al 248,200
oZ2:g 2EE LX 99,100, 000& 99,100
< 49,550
Al 49,550
03 AIZ=C0HHI 4,500 0 4,500
OFEY HEF AWTM
500,000, 000& *0.72% 3,600
< 1,800
Al 1,800
oZ3=g ==E L¥ 100,000, 000& *0.90% 900
= 450
Al 450
S As2elssH A& 162,000 117,000 45,000
= 90,000
= 36,000
Al 36,000
402 QIZEXE01H 162,000 117,000 45,000
= 90,000
= 36,000
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ol OfENE Y FFIIP EH (SHo:®el)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
402 SIZ2HX =0l Al 36,000
01 QtR=8=x 162,000 117,000 45,000
OHgtd HEa3sH K& 162,000,000 162,000
= 90,000
= 36,000
Al 36,000
HEHE2ZY 450,000 5,000 445,000
401 Al &HIZ =204 300,000 0 300,000
01 AlZH] 297,840 0 297,840
OCHHOIEH OEMERTH 2
297,840,000& 297,840
03 AlZ=0Hd] 2,160 0 2,160
OISO EH OENE RS 218
300,000, 000& *0.72% 2,160
402 PIZHRIZOIH 150,000 5,000 145,000
01 QX=X 150,000 5,000 145,000
OUZOENSRBOIE R0IE ALK
M= K& 150,000, 000& 150,000
HE2HZH|(SH==41) 68,000 62,600 5,400
Qa2 | 4,200 4,200 0
ol 2 oyl 4,200 4,200 0
203 YREZY| 4,200 4,200 0
04 BA2EH =LA 4,200 4,200 0
FAN2E HRFAH| 350,000& *12& 4,200
Jl=2Z4l 63,800 58,400 5,400
Jl=&dl 63,800 58,400 5,400
201 L3 8,000 8,000 0
01 AtR2teld 8,000 8,000 0
oYL=l 5,000,000& 5,000
O=gt| 3,000, 000& 3,000
202 Oddl 52,800 50,400 2,400
01 =LAl 52,800 50,400 2,400
OZ2UH=Z0HI 52,800,000& 52,800
405 KHeHE SHI 3,000 0 3,000
01 TMUSEF =Y 3,000 0 3,000
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